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[T(ath Sm.)-Geography-G/(DSE-B-3)/CB CSJ

2021

GEOGRAPHY — GENERAL
Paper : DSE-B-3
(Agricultural Geography)

Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version |
The figures in the margin indicate full marks.
Category - A
Answer any five questions (each within 50 words). 2x5

Discuss the characteristics of shifting cultivation.
What is crop rotation?
Define normative approach of agricultural geography.
What measures should be adopted to raise the level of agricultural productivity?
What is food security?
Differentiate between gross cropped area and net cropped area.

Mention the process of irrigation in Indian agriculture.

Category - B

Answer any four questions (each within 150 words). 5x4

. What are the major characteristics of extensive commercial agriculture?

. Briefly discuss the land classification as proposed by USDA.

State the effect of globalization on Indian agriculture.
State the main problems of agriculture in South Asian countries.
Explain with suitable examples, the possible effects of over irrigation on soil.

Critically explain Von Thunen’s model of agricultural location.
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Category - C
Answer any two questions (each within 500 words). 10x2
What role does agriculture play as an economic activity on human society?

State the characteristics of Intensive Subsistence Farming in India. What are the major changes which
has taken place in this method of farming in the modern world?

“Indian agriculture gets affected by the vagaries of monsoon and irrigation is one of the major ways
to come out of this problem” — Justify the statement with suitable examples.

Discuss the role of patterns of agricultural production, distribution and food security in India.




